Five hundred thousands, three hundreds, eight tens,
ninety-four thousands, six ones

Two hundreds, seventy-three thousands, seven ones,
eight hundred thousands

Seven hundreds, twenty-four thousands, six ones, nine tens |

Two hundred thousands, six tens, one thousand,
nine ones, two hundreds

Eight hundreds, five hundred thousands, thirty-two
thousands, six ones, four tens

743913-900=[ |
502889 + 4000 =[] {l} 332385 +50000 =[]
853241 — 30000 =
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1000 less than 4004787

{2 100 more than 4829647 7 less than 6980057

{5 6 less than 2000007 {3 100 more than 89995?

HF

- 8 less than 5300037

If you are adding 100, think of three numbers
where you will cross a thousand.
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Six hundred thousands, seven hundreds, five tens, ninety
thousands, three ones

Three hundreds, seventy-six thousands, four ones, nine
hundred thousands ‘
Seven hundred thousands, one ten, six thousands, five ones,
two hundreds 1
“Eight hundreds, two hundred thousands, thirty-six thousands,
nine ones, three tens

Fifty-four thousands, three ones, one hundred thousand,

five tens

.

342536 + 100000 =[]
897385 -50 =[ |
625780 + 50000 = [ |

145786 + 4000 = |
453231 - 40000 =[ |
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= Write a 6-digit number with no zeros.
= Write the complement to 999999 by writing the matching
digit to 9 in each column. For example, 574832

+ 4251067

qaq 94949

= Now find the digit sum of the first number by adding the
digits until you reach a single digit number. For example,

5+7+4+8+3+2=29,2+9=1[l,1+1=2

Find the digit sum of the second number. Record the two
digit sums. Repeat this whole process five times starting
with different 6-digit numbers. Write what you discover
about the digit sums in each pair.
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343000

500000 600000

.

836412 771352

523994 565003

278584 219268

827663 828699
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3042 + 10 =

-iee"oegs 100005 | | 100s
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463500 + 10 =[]

472 x 1000 =[] &h 463532 +10=[ ]
887530 + 100 =_] - 15 274075 %10 =]
52 x 1000 =[] | & 130+1000 =[]
905500 + 1000 =[_] > 50702 x 100 =]
375 x 1000 =[] | Ei 3647 £ 100 =[]

943772 + 100 = _] - 45 8718572 x100=[_]

If you multiply 34-6 by 100 you get 346.
If you divide by 10 the digits move one place to the left.

If you multlply by 100 the digits move two places to the left.

If you divide a 4 digit multiple of 100 by 100 you will get a
whole number.
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664785 + 10 =[_| 895-03 x 1000 = |

972 x 1000 =[] 773593 210 = ]
76953l + 100 = 27407-55 x 10 =]

\ 4564 x 1000 = 4320 + 1000 =[_|
95800 + 1000 = _| 87-01 x 100 =[]
309 x 100 =[] ’ 647 + 100 = |

567256 + 100 = _| 5000-72 x 100 =[]

32075 x 1000 = |

2647 +10 =]

83502 + 100 = _| 20-09 x 1000 =]
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If you multiply 4-06 by 1000 you get 4600.
If you divide 308 by 100 you get 3:08.

If you f‘nultiply by 1000 the digits move two places to the left.

If you divide a 4-digit number by 100 you always end up with
a 2-digit number.

Write a 3-digit number with two decimal places that
when you multiply by 1000 has a tens digit of 7.




